BULLETIN NO.
SERVICE PARTS LIST 54-06-2610

®
illl’a"JCE
/ SPECIFY CATALOG NO. AND SERIAL NO. WHEN ORDERING PARTS  [X{SV/SI=IoR={UNE=3 3| ') B oLy
. . Mar. 2009
1/2" Compact Driver Drill

STARTING WIRING INSTRUCTION
CATALOG NO. 2601-20 SERIAL NO. B28A SEE REVERSE SIDE

EXAMPLE:
00 o Component Parts (Small #) Are Included When
Ordering The Assembly (Large #).

A = Optional,
Not standard equipment

Q FIG. PART NO. DESCRIPTION OF PART NO. REQ.
1 05-88-1500 M6 x 1 LH Chuck Screw (1)
2 06-82-5275  6-32 x 5/16" Pan Hd. T-15 Screw, Optional ~ (2)
3 06-82-7236  #4-20 x .625 Pan Hd. Plast. T-10 Screw (6)
4 06-82-7336  #4-20 x .750 Pan Hd. Plast. T-10 Screw (8)
7 10-20-2695  Warning Label (1)
8 14-50-0836  Motor Assembly Service Kit 1)
9 e PC Board Q)
10  22-09-1700  LED Assembly (1)
11 e Connector Block Assembly Q)
12 23-66-1195  Switch 1)
13 e Gearcase Housing Assembly 1)
14 Left Handle Half Q)
15 Right Handle Half (1)
16 Pinion Gear (1)
17 40-50-1090  Compression Spring (1)
* NOTE: . 9 18 42-52-0290  Housing End Cap (1)
Compression spring (17) 19 42-70-5150  Belt Hook, Optional (1)
is positioned between the 20 43-72-0550  Bit Holder, Optional 1)
bottom/back of the left 21 45-24-0900  Forward/Reverse Lever Q)
housing half (14) and 14 22 45-88-1935 Wr?shlfr, OptiOtI;IIal §1g
; 23 48-66-1275  Chuck Assembly 1
ltﬂéhceogiglétg?%ﬁéf f 17 24 28-14-0660  Gearcase Assembly Service Kit (1)
) 25 M5 x 8mm Pan Head Screw 2)
assembly (11) 27 Torque Selector Ring 1)
as shown. 28 Motor Mount 1)
29 22-56-1230  PCB/Connector Block Assembly (1)
30 31-44-2360  Handle Assembly Service Kit (1)
31 12-20-0800  Service Nameplate 1)
32 48-55-0960  Accessory Carrying Case (1)
FIG. NOTES:
8,24,28 Service replacement gearcase assembly (24) comes with a

motor mount plate (28) that must be removed and discarded
when servicing. A motor mount plate already exists on the
motor assembly (8).

MILWAUKEE ELECTRIC TOOL CORPORATION

13135 W. Lisbon Road, Brookfield, WI 53005
Drwg. 7



WIRING — ..
: —

ﬂ

INSTRUCTIONS = .~ LED comnection ~_
—] y from the Switch .
—
——

LED Assembly  ~
Wire Routing \

©

T
L]

Solder black wire #8

Solder red
wire #7
Switch, PCB,
\ < Connector
\ Wire /
Routing

Connector Block:
neadl i I == Hook wires ,
RED I Y, | then solder.

WIRING SPECIFICATIONS

Wire Wire Origin or & =)
No. Color Gauge Length Terminals, Connectors and 1 or 2 End Wire Preparation

1 Black | - | - Component of the Connector Block Assembly. i | I [

2 Black | - | - Component of the Connector Block Assembly. ﬂ»

3 Red | - | - Component of the Connector Block Assembly. U -

4 Black | - | - Component of the Connector Block Assembly. M =

5 Red | - | - Component of the Connector Block Assembly.

6 Red | - | - Component of the Connector Block Assembly.

7 Red | - | - Component of the Motor Assembly.

8 Black | = - | - Component of the Motor Assembly.

BULK LEAD WIRE - BULLETIN NO. 58-01-0003




